
 

1 | Page APPOLO STUDY CENTRE  PH: 044-24339436, 42867555, 9840226187 

 

 
 

 
 
 
 

TNPSC GROUP I test batch – 2020 
TEST XXVII – PREMODEL II 

HISTORY, CULTURE, HERITAGE & SOCIO-POLITICAL MOVEMENTS IN TAMILNADU, 
HISTORY AND CULTURE OF INDIA (INDIAN NATIONAL MOVEMENT)  

APTITUDE AND MENTAL ABILITY 
 

1 2 3 4 5 6 7 8 9 10 
B D A A A C C C B D 

11 12 13 14 15 16 17 18 19 20 
C B B C D C C B C B 

21 22 23 24 25 26 27 28 29 30 
A B A A D D A B A A 

31 32 33 34 35 36 37 38 39 40 
D A B A B A D D A C 

41 42 43 44 45 46 47 48 49 50 
C A B D A C D D B A 

51 52 53 54 55 56 57 58 59 60 
B B D B C C C B B C 

61 62 63 64 65 66 67 68 69 70 
C D C C A D C C B C 

71 72 73 74 75 76 77 78 79 80 
D C D A C D B C C A 

81 82 83 84 85 86 87 88 89 90 
A D B C D C A C C C 

91 92 93 94 95 96 97 98 99 100 
C C C B B C B B A C 

101 102 103 104 105 106 107 108 109 110 
A D D C A D B D A B 

111 112 113 114 115 116 117 118 119 120 
D C D D D A C D C A 

121 122 123 124 125 126 127 128 129 130 
A B D B C C C D B C 

131 132 133 134 135 136 137 138 139 140 
B A C A D C C D C B 

141 142 143 144 145 146 147 148 149 150 
C C D C C B D B A D 
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126. A flood relief camp has food stock by which 80 people can be benefited for 60 days. After 10 
days 20 more people have joined the camp calculate for how many days food stock will last 
due to the addition of 20 more people? 
a. 50   b. 48   c. 40   d. 36  
xU nts;s epthuz Kfhkpy; 80 egh;fSf;Fj; Njitahd czT 60 ehl;fSf;F 
NghJkhdjhf cs;sJ. 10 ehl;fSf;F gpd;dh; 20 egh;fs; me;j Kfhkpy; te;J Nrh;e;jhh;fs; 
vdpy;> mt;TzT vj;jid ehl;fSf;F NghJkhdjhf ,Uf;Fk;?  
a. 50   b. 48   c. 40   d. 36 
 
Solution:    

 Initial persons   = 80 
 additional persons   = 20  
   total   = 100   

after  10 day's    remaining = 50 days  
 No. of persons    No. of days  
  80     50 

 (× 1.25)     (÷125) 
 100     x   

Indirect proportion  
   x = 40   (or) 
  80 × 50 = 100 × x  
   x = 40  

Another method:  
 80 persons; 60 days  
 Total units = 80 × 60 = 4800  
 per day 80 units completed   
 10 days = 800 units completed  
 remaining = 4000 units  

  
4000

80 20( )additional+
 = 40 days 

    
127. A school bus starts with full strength of 60 students. It drops some students at the first bus 

stop. At the second bus stop, it drops twice the number of students who get down from the 
first but stop. 6 students get down at the third bus stop and the number of students 
remaining in the bus is only 3. How many students got down at the first stop? 
a. 19   b. 23   c. 17   d. 14  
60 khzth;fSld; xU gs;spg;NgUe;J Gwg;gl;lJ. Kjy; epWj;jj;jpy; rpy khzth;fs; 
,wq;fpdhh;fs;. ,uz;lhk; epWj;jj;jpy; ,wq;fpa khzth;fspd; vz;zpf;if Kjy; epWj;jj;jpy; 
,wq;fpath;fspd; vz;zpf;ifiag; Nghy ,Uklq;F MFk;. %d;whk; epWj;jj;jpy; 6 khzth;fs; 
,wq;fpa gpwF> NgUe;jpy; %d;W khzth;fs; kl;LNk ,Ue;jdh; vdpy;> Kjy; epWj;jj;jpy; 
,wq;fpa khzth;fspd; vz;zpf;if vd;d?  
a. 19   b. 23   c. 17   d. 14  
 
Solution 
The no. of students get down at the first stop = a ;  
 a + 2a + 6 + 3 = 60 
  3a = 60 – 9  
  3a = 51 
  a = 17  
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128. A tank can hold 50 litres of water. At present, it is only 30% full. How many litres of water 
will fill the tank, so that it is 50% full?  
a. 20   b. 25   c. 15   d. 10  
xU jz;zPh; njhl;bapd; nfhs;ssT 50 ypl;lh;fs; MFk;. jw;NghJ mjpy; 30% jz;zPh; epuk;gp 
cs;sJ vdpy;> mjpy; 50% jz;zPh; epuk;g ,d;Dk; vj;jid ypl;lh;fs; Njit?  
a. 20   b. 25   c. 15   d. 10  
 
Solution:  
 100% = 50 litres  
 30% = (Filled)  
 20% = (needed)  
 30% + 20% = 50%  
 100% = 50 litres  
 20% = x  
 x = 10 litres  

 
129. Find the area of the shaded region.  

a. 154 cm2   b. 308 cm2   c. 231 cm2   d. 616 cm2  

 
epoypl;l gFjpapd; gug;G vd;d?  
a. 154 cm2   b. 308 cm2   c. 231 cm2   d. 616 cm2  

 
Solution:  
Semicircle (Top)  bigger semicircle   Smaller semi circle  
Radius r = 7 cm  (bottom) r = 14 cm  (bottom) r = 7 cm  

Area of the semicircle = 
2

2

r
 

Area of shaded Region = Area of the semi circle (top) + Area of the bigger semicircle 
(bottom) – Area of the smaller semicircle (bottom)  
(/ Area of (top) semicircle = Area of the smaller semicircle (botom))  

   = 21
2

r  

  = 1
2

22
7

 14 14  

  = 308 sq. cm 
 
130. A man sold two varieties of his dog for Rs. 3605 each, on one he made a gain of 15% and of 

the other a loss of 9% find over all gain or loss.  
a. 119.68 (profit) b. 117.68 (loss)   c. 113.68(loss) d. 115.68 (profit)  
xUth; ,U tifahd nry;yg;gpuhzp eha;fis xt;nthd;Wk; &gha; 3605 f;F tpw;fpwhh;. 
xd;iw tpw;Fk;NghJ mth; 15% ,yhgj;ijAk;> kw;nwhd;iw tpw;Fk; NghJ 9% e~;lKk; 
mile;jhy; mtUf;F nkhj;jkhf fpilf;Fk; ,yhgk; my;yJ e~;lk; vt;tsT?  
a. 119.68 (,yhgk;) b. 117.68 (e~;lk;)  c. 113.68 (e~;lk; d. 115.68 (,yhgk;) 
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Solution:  
 CP = 100       CP = 100 
 15% gain       9% = loss 
 115  → 3605      91  → 3605  
 100      x     100 →   y 
 x = 3134.78      y = 3961.54  

CP of two dogs = 3134.78 + 3961.54  = 7096.32 
SP of two dogs  = 7210 – 7096.32 = 113.68  

  
131. From home, Rajan rides on his motor bike at 35 km/hr and reaches his office 5 minutes late. 

If he had ridden at 50 km/hr, he would have reached his office 4 minutes earlier. How far is 
his office from his home?  
a. 140 km  b. 17.5 km  c. 52.5 km  d. 70 km 
tPl;bypUe;J Nkhl;lhh; irf;fpspy; uh[h vd;gth; 35 fp.kP / kzp Ntfj;jpy; mYtyfj;jpw;F 5 
epkplk; jhkjkhf nrd;wilfpwhh;. mth; jdJ Ntfj;ij 50 fp.kP / kzp Mf khw;wpdhy;> 4 
epkplk; Kd;ghfNt nrd;W milfpwhh; vdpy;> mtUila mYtyfj;jpw;Fk; tPl;bw;Fk; cs;s 
J}uk; vd;d?  
a. 140 mk  b. 17.5 km  c. 52.5 km  d. 70 km 
 
Solution 

   distance is always same    ( 5 minutes = 1
12

hr) 

  35 (T + 5
12

) = 50 (T - 1
15

) 

   T = 5
12

  

 Distance = 35 ( )5 1 17.5
12 12

km+ =  
  

132. X alone can do piece of work in 6 days and Y alone in 8 days. With the help of Z, they 
completed the work in 3 days. Totally they were paid Rs.48,000. How much is Z's share?  
a. 6000   b. 8000  c. 4000  d. 12,000 
X vd;gth; xU Ntiyia 6 ehl;fspy; Kbg;ghh;. Y vd;gth; mNj Ntiyia 8 ehl;fspy; 
Kbg;ghh;. Zd; cjtpAld; me;j Ntiyia 3 ehl;fspy; Kbf;fpd;wdh;. mt;Ntiyia Kbf;f 
nkhj;jkhf &.48>000 jug;gLfpwJ vdpy; Z –f;F fpilf;Fk; gq;F vt;tsT &gha;? 
a. 6000   b. 8000  c. 4000  d. 12,000 
 
Solution:  
 X = 6 days  
 Y = 8 days  
 x + y + z = 3 days  
LCM of ,6 8, 3    Total = 24 units  
 x = 4 units    / perday 
 y = 3 units    / perday 
x + y + z = 8 units  
So z = 1 units  
x : y : z    (efficient)  
4 : 3 : 1  

 8 48000
6000

  

  1     x  = 6000 
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133. The measures of the interior angles taken in order of a polygon form an arithmetic sequence. 
The least measurement in the sequence is 85°. The greatest measurement is 215°. Find the 
number of sides in the given polygon.  
a. 15   b. 9   c. 12  d. 6  
xU gy;Nfhzj;jpd; cl;Nfhzq;fspd; msTfis thpirg;gb vLj;Jr; nfhz;lhy;> mit xU 
$l;Lj; njhlh; thpiria mikf;fpd;wd. mf;$l;Lj;njhlh; thpirapy; kpff; Fiwe;j Nfhz 
msT 85° kw;Wk; kpf cah;e;j Nfhz msT 215° vdpy; me;j gyNfhzj;jpd; gf;fq;fspd; 
vz;zpf;ifia fhz;f.  
a. 15   b. 9   c. 12  d. 6  
 
 
Solution:  
 
 a = 85°   l = 215° 

 Sn = 
2

n  (a+l)  

sum of the interior angles of polygon (Sn) = (n – 2) × 180° 

  (n – 2) × 180° = 
2

n   (85° + 215°)  

  (n – 2) 180 
6

2
n= 300

150
5

 

  n = 12 
 
134. Find the value of k which the roots are real and equal of the following equation.  
 (K + 1)x2 – 2 (k – 1) x + 1 = 0 

a. 3 (or) 0  b. -3 (or) 0  c. 12 (or) 0  d. -12 (or) 0  
gpd;tUk; ,Ugb rkd;ghl;bw;F %yq;fs; nka; kw;Wk; rkk; vdpy; K d; kjpg;G  

 (K + 1)x2 – 2 (k – 1) x + 1 = 0 
a. 3 (or) 0  b. -3 (or) 0  c. 12 (or) 0  d. -12 (or) 0  
 
Solution:  

  ∆ = b2 – 4 ac 
  ∆ = 0   (roots are real and equall) 
 b = 2 (k -1) ;  a = (k + 1)   c = 1 

b2 - 4 ac = 0  
(2(k-1))2 – 4 (k+1) (1)) = 0 
4 (k-1)2 – 4 (k+1) = 4 (k2 + 1 – 2k) – 4 (k+1)  

    0 = 4k2 – 12k  
   0 = 4k (k – 3) 
   k = 0; k = 3  
 
135. A right circular cylinder having diameter 12 cm and height 15 cm is full of Ice cream. The ice 

cream is to be filled in cones of height 12 cm, and diameter 6 cm, having a hemispherical 
shape on top. Find the number of such cones which canbe filled with the ice cream available.  
a. 12   b. 15   c. 30  d. 10  
12 nr.kP tpl;lKk; 15 nr.kP cauKk; cila xU cUis tbt ghj;jpuk; KOtJk; gdpf;$o; 
epug;gg;gl;Ls;sJ. me;j gdpf;$o; MdJ 12 nr.kP cauKk; 6 nr.kP tpl;lKk; cila Nkw;Gwk; 
miuf;Nfhsk; ,ize;j tbtpyike;j $k;gpy; epug;gg;gLfpwJ. vj;jid $k;Gfspy; 
gdpf;$opid KOtJkhf epug;gyhk;.  
a. 12   b. 15   c. 30  d. 10  
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Solution 
 cylinder    cone    hemisphere  
 d = 12 cm    d = 6 cm  d = 6 cm 
 r = 6 cm   r = 3 cm  r = 3 cm  
 h = 15 cm   h = 12 cm   

Number of cones = 
volumeof thecylinder

volumeof thecone volumeof thehemisphere+
 

   = 
2

2 31 2
3 3

r h

r h r



 +
 

   = 
 2

1
3

r h

 ( )2 2r h r+
 = 

6
2

6 15
5

1
3

3 3 (12
3

10
6)

cones=
+

 

      
136. The ratio of 6th and 8th term of an A.P is 7 : 9, find the ratio of 9th term to 13th term.  

a. 9 : 13   b. 5 : 14   c. 5 : 7   d. 9 : 14  
xU $l;Lj;njhlh;thpirapd; MwhtJ cWg;G 8tJ cWg;G tpfpjq;fs; KiwNa 7 : 9 vdpy; 
9tJ cWg;G kw;Wk; 13tJ cWg;G tpfpjk; vd;d?  
a. 9 : 13   b. 5 : 14   c. 5 : 7   d. 9 : 14  

 
 Solution 
 

6tJ cWg;G = 7  
8tJ cWg;G = 9     
6th term   : 8th term       
 7  :  9           
a + 5d  :  a + 7 d 

     
5 7

97

a d

a d

+
=

+
  a = 2d  

9th term : 13th term  
a + 8d : a + 12d = 10d : 14d = 5 : 7  
,jd;gb ghh;;j;jhy; 13tJ cWg;G = 14  
9 cWg;G  = 10  

MfNt 10 : 14  
    5 : 7 

 
137. The father's age is six times his son's age. Six years hence the age of father will be four times 

his son's age. Find the present age of the son?  
a. 8   b. 6  c. 9   d. 12  
je;ijapd; tajhdJ kfdpd; taijg; Nghy MW klq;F MFk;. MW tUlq;fSf;F gpwF 
je;ijapd; tajhdJ kfdpd; taijg;Nghy; ehd;F klq;F mjpfk; vdpy; kfdpd; jw;Nghija 
taJ vd;d?  
a. 8   b. 6  c. 9   d. 12  

 
  



 

7 | Page APPOLO STUDY CENTRE  PH: 044-24339436, 42867555, 9840226187 

 

Solution:  
  

Father's age = F; 
 son's age  = S; 
    F = 6S  
    F + 6 = 4 (S + 6)   
 6s + 6  = 4S + 24  
 2s = 18  
 son's age  = 9  
 
138. A brick staircase has a total of 30 steps. The bottom step requires 100 bricks. Each successive 

step requires two bricks less than previous step. How many bricks are required for the top 
most step?  
a. 84   b. 39  c. 36  d. 42  
nrq;fw;fspdhy; fl;lg;gl;l xU gbf;fl;by; nkhj;jk; 30 gbf;fl;Lfs; cs;sd. fPo;g; gbf;fl;il 
mikg;gjw;F 100 nrq;fw;fs; Njitg;gLfpwJ. mLj;jLj;j gbf;fl;Lfs; mikg;gjw;F Ke;ija 
gbf;fl;il tpl ,uz;L nrq;fw;fs; Fiwthfj; Njitg;gLfpwJ. vdpy;> cr;rpapy; cs;s 
gbf;fl;il mikg;gjw;F vj;jid nrq;fw;fs; Njit?  
a. 84   b. 39  c. 36  d. 42  

 
 Solution 
 

nkhj;jg; gbf;fl;Lfspd; vz;zpf;if n = 30  
(Kjy; cWg;G)   (nghJ tpj;jpahrk;)   (100, 98, 96....)  

 a = 100;   d = - 2;  

  1
l a

n
d

− 
= + 
 

; 

  
100

30 1
2

l − 
= + 

− 
 

   
100

29
2

l −
=

−
; 

   l = 42  
 
139. The values of a and b if  4x4 – 24x3 + 76x2 + ax + b is a perfect square are  

a. 100, 120  b. 10, 12  c. -120, 100   d. 12, 10  
4x4 – 24x3 + 76x2 + ax + b xU KOth;f;fk; vdpy; a, b apd; kjpg;G  
a. 100, 120  b. 10, 12  c. -120, 100   d. 12, 10  
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Solution 
 

2

2 4 3 2

4

2 6 10

2 4 24 76

4

( )

x x

x x x x ax b

x

− +

− + − +

−

 

2 3 2

3 2

4 6 24 76

24 36

( ) ( )

x x x x

x x

− − +

− +

+ −

 

2 2

2

4 12 10 40

40 120 100

( ) ( ) ( )

x x x ax b

x x

− + + +

− +

− + −  
a = -120; b = + 100  

 
140. The median of observation 11, 12, 14, 18, x + 2, x + 4, 30, 32, 35, 41 arranged in ascending 

order is 24. find the value of x.  
a. 20    b. 21   c. 23   d. 24  
gpd; tUk; fzf;fPLfs; KiwNa 11, 12, 14, 18, x+2, x+4, 30, 32, 35, 41  VW thpirapy; cs;sJ. 
,tw;wpd; ,ilepiy 24 vdpy; xd; kjpg;G?  
a. 20    b. 21   c. 23   d. 24  

 
Solution:  
 

 11, 12, 14, 18  ↓  x + 2, x + 4 ↓ 30, 32, 35, 41  

 
2 4

24
2

x x+ + +
=  

 x = 21  
 
141. If a polygon has '12' sides, then the number of diagonals of the polygon is  

a. 27   b. 35   c. 54   d. 65  
12 gf;fq;fs; nfhz;l xU gy;Nfhzj;jpy; vj;jid %iytpl;lq;fs; cs;sd?  
a. 27   b. 35   c. 54   d. 65  

 
Solution:   (/ n = gf;fq;fs;)  

  
( 3)

2

n n−
 = 

12
6

(12 3)

2

−
 = 54  

142. 2

2

1
23x

x
+ = ; then find the value of 1x

x
+  and 3

3
1x

x
+  

a. 23,529   b. 5, 125   c. 5, 110  d. 10, 110   

2

2

1
23x

x
+ = ; vdpy; 1x

x
+  kw;Wk; 3

3
1x

x
+  I fhz;f 

a. 23,529   b. 5, 125   c. 5, 110  d. 10, 110   
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Solution      formula:  

 2
2

1 23x
x

+ =
    

1x a
x

+ = ;  

 a2 – 2 = 23     2 2
2

1 2x a
x

+ = − ;    

 a2 = 25     3 3
3

1 3x a a
x

+ = − ;   

 a = 5 

then x3 + 3
1

x
= a3 -3a,  

  = (5)3 – 3(5)  
  = 110  
 
143. In a class of 50 students, 28 opted for NCC, 30 opted for NSS and 18 opted both NCC and 

NSS. One of the students is selected at random. Find the probability of a student opted for 
NCC but not NSS.  

a. 
14

25
   b. 

9

25
  c. 6

25
  d. 1

5
 

50 khzth;fs; cs;s xU tFg;gpy; 28 Ngh; NCC apYk;> 30 Ngh; NSS – Yk;> kw;Wk; 18 Ngh; 
NCC kw;Wk; NSS Yk; Nrh;fpwhh;fs;. xU khzth; rktha;g;G Kiwapy; Njh;e;njLf;fg;gLfpwhh; 
vdpy;> mth; NCC – apy; ,Ue;J> NSS - ,y; ,y;yhky; ,Uf;f epfo;jfT  

a. 
14

25
   b. 

9

25
  c. 6

25
  d. 1

5
 

 
Solution:  

 ( ) ( ) ( )P A B P A P A B = −   

  = 
28 18 10 1

550 50 50
− = =  

 
144. A wall clock strikes the bell once at 1 clock, 2 times at 2'0 clock, 3 times at 3'0 clock, and so on. 

find the standard deviation of the number of strikes bell make day?  
a. 3.45  b. 156  c. 6.9  d. none of these  
xU Rth; fbfhuk; 1 kzpf;F 1 KiwAk;> 2 kzpf;F 2 KiwAk;> 3 kzpf;F 3 KiwAk; xyp 
vOg;GfpwJ vdpy; xU ehspy; mf;fbfhuk; vOg;Gk; xyp vz;zpf;iffspd; jpl;ltpyf;fk; 
fhz;f. 
a. 3.45  b. 156  c. 6.9  d. ,it vJTkpy;iy  
 
Solution:  

 S.D of first n natural numbers  

      
2 1

12

n −
=  

n = 12 = 2 cycles   
212 1

2
12

−
=  

      = 
143

2
12

=  

      2 11.92=   

      = 2 × 3 .45 = 6.9  
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145. In how many years will Rs 3375 become Rs 4096 at 13 1
3

% P.A. if the interest is 

compounded half yearly.  
a. 3 years   b. 6 years  c. 1.5 years   d. 2.5 years  

13 1
3

% Mz;L tl;bapy;> miuahz;Lf;F xUKiw tl;b fzf;fplg;gl;lhy; vj;jid 

Mz;Lfspy; & 3375 MdJ & 4096 Mf khWk;?  
a. 3 tUlq;fs; b. 6 tUlq;fs;  c. 1.5 tUlq;fs;  d. 2.5 tUlq;fs;  
 
Solution:  
 

 P = 3375   R = 13 1
3

%  A = 4096  

 A = P 
2

1
200

n
r 

+ 
 

 

 4096 = 3375 

2
113
31

200

n

 
 +
 
 

 

   = 3375 ( ( )
2

11
15

n

+  

 4096 = 3375 
2

16

15

n

 
 
 

 

 
2

16 4096

15 3375

n

 
= 

 
 

 
2 3

16 16

15 15

n

   
=   

   
 

 2n = 3   n = 3
2

 

  n = 1.5 years  
 
146. A particular high school has 1500 students 50 teachers and 5 administrators. If the school 

grows to 1800 students and the ratios are maintained, then find the numbers of 
administrators in the school? 
a. 7   b. 6   c. 9   d. 8 
xU gs;spapy; 1500 khzth;fs;> 50 Mrphpah;fs; kw;Wk; 5 eph;thfpfs; cs;sdh;. gs;spapy; 
khzth;fspd; vz;zpf;if 1800 Mf cah;e;jhy;> Nkw;fz;l tpfpjj;jpy; vj;jid eph;thfpfs; 
,Ug;gh;.  
a. 7   b. 6   c. 9   d. 8 

 
Solution 
 
khzth;fs; : Mrphpah;fs; : eph;thfpfs;  

 1500   50     5  

   300  10     1 
same ratio maintained  

 300 : 1800  
   1   :    x 
 x = 6  



 

11 | Page APPOLO STUDY CENTRE  PH: 044-24339436, 42867555, 9840226187 

 

147. A book seller has 175 English books, 245 science books and 385 maths book. He wants to sell 
the books in a box, subject – wise in equal numbers. what will be the greatest number of the 
boxes required?  
a. 70   b. 80  c. 9625   d. 35  
E}y; tpw;gidahsh; 175 Mq;fpy E}y;fisAk;> 245 mwptpay; E}y;fisAk;> 385 fzpj 
E}y;fisAk; itj;Js;shh;. xt;nthU ngl;bapYk; ghl thhpahfr; rk vz;zpf;ifapy; %d;W 
ghl E}y;fisAk; itj;J tpw;f tpUk;Gfpwhh;. mjpfgl;rkhf vj;jidg; ngl;bfs; Njitg;gLk;.  
a. 70   b. 80  c. 9625   d. 35  

  
 Solution 
 

HCF of 175, 245, 385  

  

5175,245,385

7 35, 49, 77

5, 7, 11

 

HCF = 5 × 7 = 35  
 
148. 1899, 1778, 1678, 1597, 1533?  

a. 1560   b. 1484  c. 1512  d. 1578 
 

Solution:  
  1899 1778 1678 1597 1533 ? 
   
            121         100        81       64      49 
          (112)      (10)2       (9)2     (8)2   (7)2   
 

1533 – 49 = 1484  
 
149. In a code language "MANAGE" is written as BNBOFH. How is FLOWER coded in that code 

language?  
a. MGXPSF b. MHWQRF  c. MGXQSF d. MPGXQF  
,ufrpa FwpaPl;L nkhopapy; 'MANAGE" vd;gJ BNBOFH  vOjg;gl;lhy;> FLOWER vd;gJ 
vt;thW vOjg;gLk;?  
a. MGXPSF b. MHWQRF  c. MGXQSF d. MPGXQF  
 
Solution:  
  MANAGE – AM AN EG = BN BO FH  
 so the code for  
   FL OW ER = LF WO RE  
    = MGXPSF 

 
150. If 1 + 2 + 3 + .......... + P = 171 then find 13 + 23 + 33 + ......... + P3  

a. 28641  b. 25921  c. 28561  d. 29241 
1 + 2 + 3 + .......... + P = 171 vdpy; 13 + 23 + 33 + ......... + P3 d; kjpg;G  
a. 28641  b. 25921  c. 28561  d. 29241 
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Solution:  

 (1 + 2 + 3 + ........ = n) = 
( 1)

2

n n+
 

 (13 + 23 + 33 + .......... + n3) = ( )
2

2( 1)
171

2

n n+ 
= 

 
 

    = 29241  
 


